Q Hrse 7|8 E(K11-60=)

S| (8% 7|7k 2023 112 30 17A| ~ 128 01 17A))

[ 20234 112 30Q 17A| EHE ] O 22 : AUX|H

> 270N
O (23) SMA7AD, MFsg2 =2|1 8|7t 2|1 et SA30] 10kt(1%kn/h2 1, A2 10kmYYL|L). LEE0Y)2 S=
SEAL0NM GE22 0|Sshs 17|gel 7HEARZ|of S0f M2 S22 7t H| 7 L2 S L

O UY) = SFXYAM HH22 0|53t= 17|Ye| 7FFA2|0| S0 M2 S2|1 7H5 H|7F 2| Zs LIt

ol Z|X/x[217]2 (O ol ZXMHZG2=(0) gz
(L) 6/8 (L) 4

=2 mm)/& A (cm)

(RE~tE) 1 el /-

> 2l 7IdoE

O I:IAI:I
AZHE 5202
308 o1
a2+ 17 18 19 20 21 2 23 00 01 02 03 04
4 4 4 4 4 4 4 4 4 4 4 4
ek B
for25) N N N N N N N N N N N
=210 =Z:10 =E:10 =E 10 =210 =Z:10 ZE:10 =E10 =210 =E:10 ZE:10 =210
A, HiE2 H HiE 2 H, HiE2 A HiE2 A, HiE2 H, HiE 2 H, HiE2 A HiE2 A, =2 H,HiE 2 H, HiE2 = HiE2
01y
05 06 o7 08 09 10 11 12 13 14 15 16
4 4 4 4 4 4 4 4 4 4 4 4
=210 ==110 =2Z10 =210 =210 =Z110 =210 =210 =210 =Z10 =210 =210
52 H,HiE2 B, biE2 o, HE2 H,E2 H,HE2 B, UE2 o, HE2 H,E2 H,HE2 B, bE2 o, HE2
XE5Z/ QS 2 SE 320 it HiZh2 2|o|stn, thel= kY O '53: 4= 530 4kt S 2|0))
> ZEDIE
O gl=
O HARY
X374 A L0 CHot REMIgh A2 257|473 g1 0| X|(amokmagoknof A =olgh 4= Q& LT}
X =AM 2O| EHCEX] MotHHS Gl FAXEH S 7 HAL| RS = XNFaE7|ACH (TEL 064-742-0365 / FAX 064-746-1046) 2
LE{ZFA|7| BT




